

8. If $y = \sin(m \sin^{-1} x)$, prove that

$$(1-x^2)y_{n+2} - (2n+1)xy_{n+1} - (n^2-m^2)y_n = 0$$

Solution: ~~Let~~ Let $y = \sin(m \sin^{-1} x)$

$$\therefore y_1 = \cos(m \sin^{-1} x) \cdot \frac{m}{\sqrt{1-x^2}}$$

$$\text{or, } (1-x^2)y_1' = m \cos^2(m \sin^{-1} x)$$

$$\text{or, } (1-x^2)y_1' = m(1-\sin^2(m \sin^{-1} x))$$

$$\text{or, } (1-x^2)y_1' = m^2(1-y^2)$$

Differentiating w.r.t x , we have (w.r.t means with respect to)

$$(1-x^2)2y_1y_2 - 2xy_1' = -2m^2yy_1$$

$$\text{or, } (1-x^2)y_2 - xy_1' + m^2y = 0 \dots (1) \quad [\because y_1 \neq 0]$$

Differentiating n times w.r.t x and applying Leibnitz's theorem on (1), we have

$$\left((1-x^2)y_2 \right)_n - (xy_1')_n + (m^2y)_n = 0$$

$$\text{or, } (1-x^2)y_{n+2} - 2nx y_{n+1} + n C_1 (-2x)y_{nn} + n C_2 (-2)y_n - xy_{nn} - n C_1 \cdot 1 \cdot y_n + m^2 y_n = 0$$

$$\text{or, } (1-x^2)y_{n+2} - 2nx y_{n+1} - (n^2-n)y_n - xy_{nn} - ny_n + m^2 y_n = 0$$

$$\text{or, } (1-x^2)y_{n+2} - (2n+1)xy_{n+1} - (n^2-m^2)y_n = 0$$

9. If $\cos^{-1}\left(\frac{y}{b}\right) = \log\left(\frac{x}{a}\right)^n$, then prove that

$$x^2 y_{n+2} + (2n+1)xy_{n+1} + 2n^2 y_n = 0$$

Solution: $\cos^{-1}\left(\frac{y}{b}\right) = \log\left(\frac{x}{a}\right)^n$

$$\text{or, } \cos^{-1}\left(\frac{y}{b}\right) = n \log\left(\frac{x}{a}\right)$$

$$\text{or, } y = b \cos [n(\log x - \log n)] \quad \dots (1)$$

Differentiating with respect to x , we have

$$y_1 = -b \sin [n(\log x - \log n)] \cdot \frac{n}{x}$$

$$\text{or, } xy_1 = -nb \sin [n(\log x - \log n)]$$

$$\begin{aligned} \text{or, } x^2 y_1^2 &= n^2 b^2 \sin^2 [n(\log x - \log n)] \\ &= n^2 b^2 (1 - \cos^2 [n(\log x - \log n)]) \\ &= n^2 b^2 - n^2 y^2 \quad (\text{from (1)}) \end{aligned}$$

Differentiating w.r.t x , we have

$$x^2 y_1 y_2 + 2xy_1^2 = -2n^2 y y_1$$

$$\text{or, } x^2 y_2 + xy_1 + n^2 y = 0 \quad \dots (2) \quad [\text{As } y_1 \neq 0]$$

Differentiating (2) w.r.t x and applying Leibnitz's theorem, we get

$$(x^2 y_2)_n + (xy_1)_n + (n^2 y)_n = 0$$

$$\text{or, } x^2 y_{n+2} + n_1 \cdot 2x \cdot y_{n+1} + n_2 \cdot 2 \cdot y_n + x y_{n+1} + n_1 \cdot 1 \cdot y_n + n^2 y_n = 0$$

$$\text{or, } x^2 y_{n+2} + 2nx y_{n+1} + (n^2 - n) y_n + x y_{n+1} + n y_n + n^2 y_n = 0$$

$$\text{or, } x^2 y_{n+2} + (2n+1) x y_{n+1} + 2n^2 y_n = 0$$

10. If $y = (\log^{-1} x)^2$, prove that

$$(1-x^2) y_{n+2} - (2n+1) y_{n+1} - n^2 y_n = 0$$

Solution: Here $y = (\log^{-1} x)^2$

$$\text{Then } y_1 = 2 (\sin^{-1} x) \cdot \frac{1}{\sqrt{1-x^2}}$$

$$\text{or, } (1-x^2) y_1^2 = 4 (\sin^{-1} x)^2$$

$$\text{or, } (1-x^2) y_1^2 = 4y$$

Differentiating w.r.t x , we have

$$(1-x^2) 2y_1 y_2 - 2x \cdot y_1^2 = 4y_1$$

$$\text{or, } (1-x^2) y_2 - x y_1^2 = 2y_1 \quad (\text{As } y_1 \neq 0) \quad \dots (1)$$

Differentiating ⁽¹⁾ n times w.r.t x , we get and applying

Leibnitz's theorem, we get

$$\frac{d^n}{dx^n} \left[(1-x^2) y_2 \right] - (x y_1^2)^{(n)} + (-1)^n y_1 = 0$$

$$\text{or, } (1-x^2) y_{n+2} + {}^n C_1 (-2x) y_{n+1} + {}^n C_2 (-2) y_n - x y_{n+1}^2 - {}^n C_1 \cdot 1 \cdot y_n = 0$$

$$\text{or, } (1-x^2) y_{n+2} - (2n+1)x y_{n+1} - n^2 y_n = 0$$

11. If $y = e^{m \sin^{-1} x}$ then prove that

$$(1-x^2) y_{n+2} - (2n+1)x y_{n+1} - (n^2 + m^2) y_n = 0$$

and hence find $y_n(0)$ (n th derivative of y w.r.t x at $x=0$)

Solution: Here $y = e^{m \sin^{-1} x} \quad \dots (1)$

$$y_1 = e^{m \sin^{-1} x} \cdot \frac{m}{\sqrt{1-x^2}} \quad \dots (2)$$

$$\text{or, } (1-x^2) y_1^2 = m^2 (e^{m \sin^{-1} x})^2$$

$$\text{or, } (1-x^2) y_1^2 = m^2 y^2$$

Differentiating w.r.t x we have,

$$(1-x^2) 2y_2 - 2xy_1' = m^2 \cdot 2y_1$$

$$\text{or, } (1-x^2)y_2 - xy_1 - m^2 y = 0 \quad \dots (3)$$

Differentiating (3) w.r.t x n times and applying

Leibnitz's theorem, we get

$$\left((1-x^2)y_2 \right)_n - (xy_1)_n - (m^2 y)_n = 0$$

$$\text{or, } (1-x^2)y_{n+2} + {}^n C_1 (-2x)y_{n+1} + {}^n C_2 (-2)y_n - xy_{n+1} - n \cdot 1 \cdot y_n - m^2 y_n = 0$$

$$\text{or, } (1-x^2)y_{n+2} - (2n+1)xy_{n+1} - (n^2 + m^2)y_n = 0 \quad \dots (4)$$

Putting $x=0$ in (4), we get

$$y_{n+2}(0) = (n^2 + m^2)y_n(0)$$

Putting $x=0$, in equations (1), (2) and (3)

$$y(0) = 1, \quad y_1(0) = m \quad \text{and} \quad y_2(0) = m^2$$

Putting $n=1, 2, 3, 4, \dots$ in equation (4), we get

$$y_3(0) = (1^2 + m^2)y_1(0) = m(1^2 + m^2)$$

$$y_4(0) = (2^2 + m^2)y_2(0) = m^2(2^2 + m^2)$$

$$y_5(0) = (3^2 + m^2)y_3(0) = m(1^2 + m^2)(2^2 + m^2)$$

$$\text{In general, } y_n(0) = \begin{cases} m^2 (2^2 + m^2)(4^2 + m^2) \dots ((n-1)^2 + m^2), & n \text{ even} \\ m(1^2 + m^2)(3^2 + m^2) \dots ((n-2)^2 + m^2), & n \text{ odd} \end{cases}$$

Homework: HW 5. If $y = \sin(m \sin^{-1} x)$, find $y_n(0)$

HW 6. If $y = \cos(m \sin^{-1} x)$, show that

$$(i) \quad (1-x^2)y_2 - 2xy_1 + m^2 y = 0$$

$$(ii) \quad (1-x^2)y_{n+2} - (2n+1)xy_{n+1} + (m^2 - n^2)y_n = 0$$

Also find $y_n(0)$.